Admiral DE25D6B 01 - CONTROL PANEL

Item

1

a b 0N

©

DE25D6B

By
gzoLy

7

Q__f@

-

Issued 5/86

N-28-22

Admiral Residential Admiral DE25D6B Dryer Parts Parts Diagram 01 - CONTROL PANEL
Click on the part number to view part

Original Part Number

63-6568-24
63-6568
63-6568-25
63-5961
25-7649
33-6765
25-7496
33-6766
33-2862
25-6044
33-7509
63-5847

25-3092

25-0205
63-6494
63-6495

Replaced By

Status

Not Available
Not Available
Not Available
Not Available

Not Available

Not Available
Not Available

Not Available
Not Available

Part Description
WRAPPER
WRAPPER
WRAPPER
CONTROL PANEL
Screw

LH End Cap
Screw

RH End Cap
TIMER KNOB

Set Screw
SELECTOR KNOB
CONTRL SHIELD

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, Bracket To Timer
TIMER
TIMER MOTOR



http://www.pwslaundry.com/c-502416-residential-admiral-de25d6b-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10393928-admiral-910187-washer-dryer-screw.html
http://www.pwslaundry.com/i-10392314-admiral-33-6765-washer-dryer-lh-end-cap.html
http://www.pwslaundry.com/i-10392673-admiral-25-7760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10392313-admiral-33-6766-washer-dryer-rh-end-cap.html
http://www.pwslaundry.com/i-10393185-admiral-25-6044-washer-dryer-set-screw.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10395332-admiral-216412-washer-dryer-screw-bracket-to-timer.html

63-5775

25-3092

63-5352

25-3092

25-7461
63-5954

25-3092

90767

90767

90767

Not Available

Not Available

Not Available
Not Available

SWITCH

Screw, 8A X 3/8 HeX Washer
Head Tapping

SEL SWITCH

Screw, 8A X 3/8 HeX Washer
Head Tapping

CLIP
SHIELD

Screw, 8A X 3/8 HeX Washer
Head Tapping


http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html

	Admiral DE25D6B 01 - CONTROL PANEL

